By: Neil E. Cotter CIRCUITS

CONCEPTUAL tTooLs
V AND I DIVIDERS
Voltage divider
EXAMPLE 1
Ex: 60 kQ
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Calculate vj.

soln: We have voH:‘qﬂe Adivider COnsLs-thg of
the G0V sSr¢ and +the 27k and 33k

FresiLstors.
V, = GOV :_27kf
27kSL+ 33 kSL
= GOV 27k
60 k5L
V, = 277V

Note: Here, we have geveral circuitsg
in parallel across the 6OV sre:
the 2mA srd, the 120kn resistor,
and the 27k and 33k resistors.
We <can solve each of +these <circuits
separately, das though they each
had their own 60V sre.

The 30V 4r¢ and GOSL resistor are
isolated by wires from the rest of the cirutt.



